Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

(ke

PICTURE DESCRIPTION REF NO. NOTE

. -

(I b > MULTI CIRCUIT VALVE 9347000400
1'1. F ';_’.'.

9347023000

MULTI CIRCUIT VALVE 9347023200

9347023400

9347022100

MULTI CIRCUIT VALVE 9347022210

9347022400

MULTI CIRCUIT VALVE 9347022500

MULTI CIRCUIT VALVE 9347050020

MULTI CIRCUIT VALVE 9347050050

MULTI CIRCUIT VALVE 9347050060

9347130040

MULTI CIRCUIT VALVE 9347130190

www.victortruck.com 1




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
9347140100
MULTI CIRCUIT VALVE 9347140130
9347141250
9347141190
MULTI CIRCUIT VALVE 9948015 IVECO
9347141510
MULTI CIRCUIT VALVE 934714120
9347141450
MULTI CIRCUIT VALVE 9347142110
9347147400
MULTI CIRCUIT VALVE 20716313 VOLVO
21225479
9325109582
MULTI CIRCUIT VALVE 1763422 SCANIA
1774873
MULTI CIRCUIT VALVE AE4162
AE4448
MULTI CIRCUIT VALVE AE4452

www.victortruck.com 2




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
AE4158
MULTI CIRCUIT VALVE AE4168
AE4170
AE4179
MULTI CIRCUIT VALVE AE4428
AE4404
MULTI CIRCUIT VALVE AE4422
AE4437
MULTI CIRCUIT VALVE AE4440
AE4502
MULTI CIRCUIT VALVE 042535024 IVECO
MULTI CIRCUIT VALVE AE4505
AE4510
MULTI CIRCUIT VALVE 1505128 DAF
AE4525
MULTI CIRCUIT VALVE 5010525808

www.victortruck.com 3



PICTURE

DESCRIPTION

Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

REF NO.

(ke

NOTE

MULTI CIRCUIT VALVE

AE4603
3197858
3197585

VOLVO

&
&

MULTI CIRCUIT VALVE

AE4604
20755195
3197588

VOLVO

I

MULTI CIRCUIT VALVE

AE4605
5010422971
5006143813

MULTI CIRCUIT VALVE

AE4609
81521516095
81521519095

MULTI CIRCUIT VALVE

AE4610
1367504

DAF

o
&
£

MULTI CIRCUIT VALVE

AE4612
11066148

NEOPLAN

.
e
.

v

MULTI CIRCUIT VALVE

AE4613
81521516093
97166254

MAN
IVECO

“

MULTI CIRCUIT VALVE

AE4615
A0004205771

www.victortruck.com 4




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
AE4644
MULTI CIRCUIT VALVE oaca
MULTI CIRCUIT VALVE AE4646
AE4800
MULTI CIRCUIT VALVE | A5350 BENZ
4730170070
RELAY VALVE 4730170080
9710023040
RELAY VALVE 9710023010
9710027000
RELAY VALVE 9710027010
9730110000
RELAY VALVE 9730110010
9730110050
9730110020
RELAY VALVE 1313871 SCDAA'\I':IA
1506486

www.victortruck.com 5




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
9730110040 OAF
RELAY VALVE 1305026 BENZ
0044296244
9730110500 DAF
RELAY VALVE 1504903 SCANIA
1425183
9730112000 BENZ
RELAY VALVE 0044297644 AN
1504965
9730112010
RELAY VALVE 1519332 DAF
9730112050 OAF
RELAY VALVE 1506488 BENZ
0054291044
9730112060
RELAY VALVE 5010260705 REgﬁgLT
1518270
9730112080
RELAY VALVE 121107 IVECO
9730112500
RELAY VALVE 81591166079 MAN

www.victortruck.com



Victorruck|" ~N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
279180
RELAY VALVE 280375
286370
RELAY VALVE 288221
RELAY VALVE 287114
RELAY VALVE 065303
KN28500
KN28510
RELAY VALVE KN28520
KN28531
110460
110200
RELAY VALVE 110205
116205
RELAY VALVE KN26000
RELAY VALVE KN28080

www.victortruck.com 7



Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
KN28600
KN28601
_ RELAY VALVE (N28E02
é KN28603
O KN30100
%@"}t RELAY VALVE KN30200
KN30300
KN30400
{ FOOT BRAKE VALVE 5930083401
{ FOOT BRAKE VALVE MC838211
/ FOOT BRAKE VALVE 229501
¢ ,&
ve
277863
| FOOT BRAKE VALVE 578998
»
' FOOT BRAKE VALVE 286171
800629
FOOT BRAKE VALVE 800630
800631

www.victortruck.com




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
286773
FOOT BRAKE VALVE 788383
4613072000
FOOT BRAKE VALVE 1506081 DAF
FOOT BRAKE VALVE 4613074790
4613151800 DAE
FOOT BRAKE VALVE 1504971 SCANIA
1324663
4613152480
FOOT BRAKE VALVE 4613152610
<En 4613152540
‘_‘ e FOOT BRAKE VALVE 4613152580
VY
L
4613152640 BENZ
FOOT BRAKE VALVE 0044314605 DAF
1518065
4613170000
FOOT BRAKE VALVE 4613170020

www.victortruck.com




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE
PICTURE DESCRIPTION REF NO. NOTE
4613170060
FOOT BRAKE VALVE 3028741 VS;\,GO
84521306032
4613170080
FOOT BRAKE VALVE 4613170540 DAF
1506090
4613186030
FOOT BRAKE VALVE 2613166040
FOOT BRAKE VALVE 4613190080
4613192710 DAF
FOOT BRAKE VALVE 1518070 BENZ
0034311705
4613192740 DAF
FOOT BRAKE VALVE 1517495 BENZ
0044314905
4614911020 DAF
FOOT BRAKE VALVE 1518073 VECO
02470415
4614945020
FOOT BRAKE VALVE 5001844787 REgﬁgLT
1505317

www.victortruck.com

10



Victordruok| ™ N

— — e

PICTURE DESCRIPTION REF NO. NOTE

FOOT BRAKE VALVE 0486200104

FOOT BRAKE VALVE 21390592 VOLVO

FOOT BRAKE VALVE 1337184 DAF

FOOT BRAKE VALVE 500317963 IVECO

HAND BRAKE VALVE 9617011000

HAND BRAKE VALVE 9617011050

HAND BRAKE VALVE 9617020010

HAND BRAKE VALVE 9617020040

www.victortruck.com 11



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
é HAND BRAKE VALVE 9617210000
9617221500
HAND BRAKE VALVE 9617221560

.'_J

9617221510
{ HAND BRAKE VALVE 9617221520
N 9617222120
& HAND BRAKE VALVE 9617222320
HAND BRAKE VALVE 9617222520
9617222580
HAND BRAKE VALVE 9617222840
9617222750

HAND BRAKE VALVE 0024302481 BENZ
HAND BRAKE VALVE 9617223050

www.victortruck.com 12



Vigtordruck ™ -3

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
9617223140
HAND BRAKE VALVE 571125 S%\A'\I':IA
i 1505328
é HAND BRAKE VALVE 9617223150
J HAND BRAKE VALVE 9617230010 DAF
| 0371274
ol
i L |
{ 9617230040
HAND BRAKE VALVE 9617230380 DAF
“3 1505331
gf
9617230210 oAF
HAND BRAKE VALVE 1505336 Yoo
469271
{ HAND BRAKE VALVE 9617230380
9617231000
( HAND BRAKE VALVE e DAF
9619230190
HAND BRAKE VALVE 9617231120 DAF
iy 1524310

www.victortruck.com 13



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

9619231080
4 HAND BRAKE VALVE 559817 DAF
9619231110
HAND BRAKE VALVE 9619232080 DAF
1518236
{ HAND BRAKE VALVE 9617231020
N | !
-
9617230050
_ _ HAND BRAKE VALVE 9617231040 BENZ
-~ 0024307881
ke
9617232130
d HAND BRAKE VALVE 0617232150
'
9617232170 DAF
HAND BRAKE VALVE 1506757 VOLVO
1408332
./ 9617234210
__g HAND BRAKE VALVE 0034305981 BENZ
f HAND BRAKE VALVE 9515443 VOLVO

www.victortruck.com 14



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
w LEVELLING VALVE 4410500060
“ LEVELLING VALVE 4410500070
4410500080
% LEVELLING VALVE 4410500100
w LEVELLING VALVE 4410500110
w LEVELLING VALVE 4410500120
w’ LEVELLING VALVE 4410500130
4410501000
h LEVELLING VALVE 4410501010
4410501200
4410501210
: LEVELLING VALVE 4410501230
; 4410501230

www.victortruck.com 15



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
. LEVELLING VALVE 4630320200
=
1. 4640023300
€ LEVELLING VALVE vty
.n. . 4640060000
N e LEVELLING VALVE 4640060010 VOLVO
e 1607728
/ 4640060020
_ i LEVELLING VALVE 375537 DAF
- 4640061000
. ;33.!"“ P LEVELLING VALVE 375536 DAF
e ,'—; S LEVELLING VALVE 3038069 VOLVO
— 1518856 DAF
T - e L B 04675513 IVECO
,
4640070010
LEVELLING VALVE 4640070140
4640070300

www.victortruck.com

16




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

(ke

PICTURE DESCRIPTION REF NO. NOTE
4640070020
’ LEVELLING VALVE 4640070030
” 4640070070 RENAULT
LEVELLING VALVE 5010260136
,..-‘
4640070080 RENAULT
‘ LEVELLING VALVE 5010260060
. 4640070100
. LEVELLING VALVE 1399776 SCANIA
1430545
4640070110
LEVELLING VALVE 1518095 DAF
A0003284530
| 4640070190
LEVELLING VALVE 20410492 VOLVO
20531965
; 0500005001
- LEVELLING VALVE
& 0500005002
3 D
= 0500005006
g LEVELLING VALVE 0500005007

www.victortruck.com




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
90054007
( LEVELLING VALVE 1118884
4 LEVELLING VALVE 0504002112
5010207803
i LEVELLING VALVE 0504002113
0504002107
LEVELLING VALVE 9517678
K013741N00
21585711

LEVELLING VALVE 21253672 VOLVO
20583428
’ LEVELLING VALVE 90555105
. 90554663

; LEVELLING VALVE 1407139 SCANIA
1451839

* GEAR BOX VALVE 1319557 SCANIA

www.victortruck.com 18



Victordruok| ™ N

— — e

PICTURE DESCRIPTION REF NO. NOTE
# GEAR BOX VALVE fézgggg VOLVO
\’:v GEAR BOX VALVE 6 69323/33 15712 627 VOLVO
-P GEAR BOX VALVE 1222255 VOLVO
“ GEAR BOX VALVE 12232?; VOLVO
‘ GEAR BOX VALVE 1672231 VOLVO
* GEAR BOX VALVE 1653156 VOLVO
GEAR BOX VALVE 0012606757 BENZ

g GEAR BOX VALVE Ggigfgigf

www.victortruck.com



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

V/\RY/=
PICTURE DESCRIPTION REF NO. NOTE
GEAR BOX VALVE 0012606357
GEAR BOX VALVE 9415400045
GEAR BOX VALVE 81521706156
0002601457
GEAR BOX VALVE 5710031040
.-
- 0012602057
-
%\.‘; GEAR BOX VALVE G155,G210
5.
=,
=Y
:“f' GEAR BOX VALVE 5000673571
-
1653070
GEAR BOX VALVE 1669422
GEAR BOX VALVE 3192384

www.victortruck.com




Vigtordruck ™ -3

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
1521249
GEAR BOX VALVE 125307 VOLVO
. 1521248
. B GEAR BOX VALVE 1667210 VOLVO
1669420
:-:—l GEAR BOX VALVE 1521247 VOLVO
20775168
GEAR BOX VALVE 20775173
8171247
# GEAR BOX VALVE WG2203250010
% GEAR BOX VALVE 1488083 SCANIA
ASNe =
_{CROM
“l‘- ¥\ GEAR BOX VALVE 1488083-1 SCANIA
@,.. E 2
o=y GEAR BOX VALVE 1364636 SCANIA
Ogo-d ‘ i
0

www.victortruck.com 21



Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
GEAR BOX VALVE 1457275 DAF
GEAR BOX VALVE 1457276 DAF
GEAR BOX VALVE 0301484 SCANIA
GEAR BOX VALVE 1421322 SCANIA
GEAR BOX VALVE 1421324 SCANIA
1421323
GEAR BOX VALVE 1536305 SCANIA
1340232
1421325
GEAR BOX VALVE 1370354 SCANIA
1536307
1078316
SOLENOID VALVE 3165144 VOLVO

www.victortruck.com 22



Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
SOLENOID VALVE 1078320 VOLVO
SOLENOID VALVE 8143015 VOLVO
SOLENOID VALVE 8143014 VOLVO
SOLENOID VALVE 8143096 VOLVO
8143019
SOLENOID VALVE 1610568 VOLVO
1594346
SOLENOID VALVE 1625770 VOLVO
SOLENOID VALVE 1078322 VOLVO
SOLENOID VALVE 8143017 VOLVO

www.victortruck.com 23



Vigtordruck ™ -3

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

SOLENOID VALVE 8143021 VOLVO

é SOLENOID VALVE 5010224047 RENAULT
?r
.J'

SOLENOID VALVE 4720706280

SOLENOID VALVE 4720706390

SOLENOID VALVE 4721706060

SOLENOID VALVE 4721726000

Y
¥
!

SOLENOID VALVE 4721726860

-

vie

SOLENOID VALVE 4721734280

www.victortruck.com 24



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE
DESCRIPTION REF NO. NOTE
SOLENOID VALVE 4721737000
4722500000
SOLENOID VALVE 4722500010
SOLENOID VALVE 4722500070
SOLENOID VALVE 4720174800
4721950040
SOLENOID VALVE 4721950050
4721950090
4721950160
SOLENOID VALVE 4721950180
4721950310 DAE
SOLENOID VALVE 1518909 RENAULT
5021170197
SOLENOID VALVE 4728800000

www.victortruck.com 25



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
& SOLENOID VALVE 4728800300
g SOLENOID VALVE 4422002221
‘\ i‘?
")
Heass SOLENOID VALVE 4631840310
-
Q SOLENOID VALVE 9702600457
ﬁ SOLENOID VALVE 3944716 VOLVO
f - » SOLENOID VALVE 3944717 VOLVO
"w *ﬂ-.‘
| SOLENOID VALVE 9957009 VOLVO
Y
i (‘, SOLENOID VALVE 3944186 VOLVO

www.victortruck.com




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE

SOLENOID VALVE 950364047
9730020070
BRAKE VALVE 9730024020
9730025010
BRAKE VALVE 9730025200
9730025210
9730090010
BRAKE VALVE 9730090020
9730090100
BRAKE VALVE 9730093000

AC598C

BRAKE VALVE AB2851
5010260241
4757100200
BRAKE VALVE 4757100220

www.victortruck.com

27




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE
PICTURE DESCRIPTION REF NO. NOTE
4757110750 DAF
BRAKE VALVE 1504958 VOLVO
1628955
A
4757120040
“ L BRAKE VALVE 1518127 DAF
4757145000 DAE
BRAKE VALVE 1325325 IVECO
3300868
4757155000
BRAKE VALVE 1506232 DAF
BRAKE VALVE 4753042010
BRAKE VALVE 9753000140
BRAKE VALVE 9753001100

www.victortruck.com

28



Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
BRAKE VALVE 9753030600
BRAKE VALVE 9753030850
9753034720
BRAKE VALVE 9753035030
9753035040
BRAKE VALVE 9753034730
9753034640
BRAKE VALVE 9753034740
BRAKE VALVE DR3200
4325000200
BRAKE VALVE 4325000210

www.victortruck.com

29




Victordruok| ™ N

VALVE . —

PICTURE DESCRIPTION REF NO. NOTE
g B
g R
j{? R
é e | TS0t
é I I
! ! BRAKE VALVE 4750104000
R

www.victortruck.com 30




Victordruok| ™ N

VALVE

PICTURE DESCRIPTION REF NO. NOTE

BRAKE VALVE 1189393
s Ll

— - BRAKE VALVE 3944252

e n N
BRAKE VALVE 275491
BRAKE VALVE MC808717
BRAKE VALVE A4740

0481009026

BRAKE VALVE 1606720
BRAKE VALVE 75451108900

www.victortruck.com

31




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
' BRAKE VALVE 16743
o
Q 9735000000
g" BRAKE VALVE 9735000110
T
8 229859
, ( BRAKE VALVE 220844
\l 229813
é BRAKE VALVE 289714
é BRAKE VALVE 9630010010
9630010120
BRAKE VALVE 9630010130
-
4 BRAKE VALVE 4630132000

www.victortruck.com 32




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE
PICTURE DESCRIPTION REF NO. NOTE
4630220200
BRAKE VALVE 4630220210
4630360000
BRAKE VALVE 4630360010
0019976136
BRAKE VALVE 4756040110
BRAKE VALVE 4520021070
BRAKE VALVE 4630132000
4630220200
BRAKE VALVE 4630220210
4342080000
BRAKE VALVE AE4105

www.victortruck.com

33




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

(ke

PICTURE DESCRIPTION REF NO. NOTE
BRAKE VALVE 4342080090
BRAKE VALVE 9343000030
BRAKE VALVE 2;2228
BRAKE VALVE 276567
S
BRAKE VALVE gggg;g
S

www.victortruck.com

34




Vietorruck " “X

— —————————————
One Stop Solution For Truck Parts

VALVE

(ke

PICTURE DESCRIPTION REF NO. NOTE
344026011
BRAKE VALVE 344025011
M22*1.5
344026031
BRAKE VALVE 344025031
M22*1.5
9522010010
BRAKE VALVE 9522010020
4522002110
BRAKE VALVE 4522000120
4522002120
BRAKE VALVE 4522000110
9522002220
BRAKE VALVE 9522002210
12306
BRAKE VALVE 12308

www.victortruck.com

35




Vigtordruck ™ -3

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
12136
BRAKE VALVE 12138
FOOT BRAKE VALVE 4613150170 ' =
4613154790 2xm12x1.5
Ports: 4x M16x1.5
Ports: 8x M16x1.5
4613150080 Ports: 4x M16x1.5;
FOOT BRAKE VALVE 4613150420 2x M12x1.5
4613150040 Ports: 4x M16x1.5;
2x M12x1.5
Ports: 8x M16x1.5;
FOOT BRAKE VALVE 4613190080 Ix M12x1.5
FOOT BRAKE VALVE 4614820950 Ports: 8x M16x1.5
Ports: 4x M22x1.5
FOOT BRAKE VALVE MB4820 Ports: 4x M22x1.5VOSS
FOOT BRAKE VALVE 4613075000 Ports: 8x3/8" NPT
FOOT BRAKE VALVE 286171 Ports: 8x3/8" NPT

www.victortruck.com 36



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

Ports: 4x M16x1.5;
.( FOOT BRAKE VALVE 4613170000 2x M12x1.5

4613170020 Ports: 4x M16x1.5

Ports: 4x M16x1.5;

,.: FOOT BRAKE VALVE 4613170510 2% M12x1.5
Ports: 4x M16x1.5;

FOOT BRAKE VALVE 4613170240 2% M12x1.5
FOOT BRAKE VALVE ME00681 Ports: 4x M16x1.5;

4x M12x1.5

FOOT BRAKE VALVE 4613152580 Ports: 4x M22x1.5 VOSS

4613152670
FOOT BRAKE VALVE 4613152180 Ports: 4x M22x1.5 VOSS
oot srae vave | 4613192710 | TR e
FOOT BRAKE VALVE Ports: 8x3/8" NPT

www.victortruck.com 37



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

FOOT BRAKE VALVE 5930083401 Ports: 8x3/8" NPT
FOOT BRAKE VALVE M838211 Ports: 8x3/8" NPT
800629
FOOT BRAKE VALVE 800630 Ports: all 3/8" NPT
800631
278998
277863 Ports: 6x 1/2"NPT;
FOOT BRAKE VALVE 229500 2x 1/4"NPT
229511

Ports: 6x 1/2"NPT;

FOOT BRAKE VALVE 229501 3x 1/4"NPT

Ports:4xM22x1.5;

FOOT BRAKE VALVE 4613192600 1xM16x1.5VOS

Ports:4xM22x1.5;
FOOT BRAKE VALVE 4613192740 1xM16x1.5VOSS
Comment:Silenceer fitted

www.victortruck.com 38



Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
Port 1:M22x1.5;
’ RELAY VALVE 9730010200 > 4:M16x1.5
/] Port 1,2,4:M16x1.5
RELAY VALVE g;gggigi?g Port 1,2,3:M16x1.5;
4:M16x1.5
: 4730170070 Ports: All M22x1.5
}ﬁ RELAY VALVE 4730170080
\
Ports:
RELAY VALVE 281860 1x3/4",1x3/8",4x1/4"
281865
NPT
Port 1,2:M22x1.5;
9730110000 4:M16x1.5
RELAY VALVE 9730110010 Port1,2:M22x1.5;4:M16x
iy 1.5 VOSS
KN28500 Port 1‘}.,;/24%1@%:3/8 ;
RELAY VALVE KN28510 ’ "
KN28520 Port 11,21,22:1/2";
- 4 4:1/4" NPT
Port
RELAY EMERGERCY VALVE 9710021520 4:M16x1.5;2:4xM16x1.5,

1xM22x1.5;1-2:M22x1.5

www.victortruck.com 39




Victordruok| ™ N

VALVE
PICTURE DESCRIPTION REF NO. NOTE
ﬁ-‘ RELAY EMERGERCY VALVE| 9710021500 Ports:all M22x1.5
RELAY EMERGERCY VALVE| 9710025310 Ports:all M22x1.5
' RELAY VALVE 103009 Port 1,21:1/2"; 4:1/8
NPT
' @ Port1,21:1/2";
RELAY VALVE 103010 41X/ XL/4"NPT
KN28600 Ports:3/4" NPT
& MULTIFUCTION VALVE KN28601 Ports:1/2" NPT
‘ RELAY VALVE 102626 Ports:1/2" NPT
a -
? RELAY VALVE 103028 Ports:1/2" NPT
\ §
-

www.victortruck.com

40



Victordruok| ™ N

WITH RELEASE

VALVE
PICTURE DESCRIPTION REF NO. NOTE
: Port 1:3/4"; all others
Q RELAY VALVE 110380 3/8" NPT
RELAY VALVE 116200 Ports:1x3/4";9x3/8" NPT
% . .
| 9730060000 Port 1:M22x1.5;
* RELAY VALVE 9730060010 2,4:M16x1.5
Port 1,2:M22x1.5;
‘ RELAY VALVE 970060030 PR
Port 1,2:M22x1.5
RELAY VALVE 9710025300 VOSS41,42:M16x1.5
VOSS
Port1-2:M22x1.5
' RELAY EMERGERCY VALVE| 9710021510 A othoreM 16 &
t RELAY EMERGERCY VALVE | 9710025300 Ports: all M22x1.5

www.victortruck.com 41




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

Ports: all M22x1.5

RELAY EMERGERCY VALVE 9710025700 WITH RELEASE

RELEASE VALVE 9630010010 Ports: M22x1.5
9630010120 Ports:M16x1.5
RELEASE VALVE 9630010130 Ports:M22x1.5
&y
b 9630010510

“‘! i EL PARK-RELEASE VALVE 352045001 Ports:all M16x1.5

. HAND BRAKE VALVE 9617221680 Ports: 2x M14x1.5

HAND BRAKE VALVE 9617221510 Ports: 2x M14x1.5

HAND BRAKE VALVE 9617221500 Ports: 2x M14x1.5

www.victortruck.com 42



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

HAND BRAKE VALVE 9617222520 Ports: 3x M14x1.5

HAND BRAKE VALVE 9617222580 Ports: 3x M14x1.5

HAND BRAKE VALVE 9617222660 Ports: 3x M14x1.5

HAND BRAKE VALVE 9617230010 Ports: 2x M16x1.5

{ HAND BRAKE VALVE 9617230040 Ports: 2x M16x1.5

9617230380

HAND BRAKE VALVE 9617231000 Ports: 3x M16x1.5

HAND BRAKE VALVE 9617231080 Ports: 3x M16x1.5

www.victortruck.com 43



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

'
=
f

HAND BRAKE VALVE 9617230190 Ports: 3x M16x1.5

HAND BRAKE VALVE APSA5890 Ports: 1/4" NPT

HAND BRAKE VALVE 9617222120 Ports: @12.5 H10

HAND BRAKE VALVE 9617223140 Ports: 3x M14x1.5

-

F

HAND BRAKE VALVE 9617011000 Ports:3x M14x1.5

HAND BRAKE VALVE 9617231040 Ports:3x M16x1.5

w’
{ HAND BRAKE VALVE 9617231110 Ports: 3x M16x1.5

www.victortruck.com 44



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

PROTECTION VALVE

VALVE
PICTURE DESCRIPTION REF NO. NOTE
Port 1:M16x1.5
ROTARY SIDE VALVE 4630320200 all others:M12x1.5
SHUT OFF COCK 4756040100 Ports: M22x1.5
HAND BRAKE VALVE Ports: 1/4" NPT
HAND BRAKE VALVE 9617234210 Ports: 2xM16x1.5
FOUR-CIRCUIT Port 1:M22x1.5;
PROTECTION VALVE 9347022100 all others:M16x1.5
FOUR-CIRCUIT 252122 Port 1:M22x1.5;
PROTECTION VALVE AE4170 all others:M16x1.5
FOUR-CIRCUIT 9347022500 Port 1:M22x1.5;

all others:M16x1.5

www.victortruck.com

45



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

PROTECTION VALVE

VALVE
PICTURE DESCRIPTION REF NO. NOTE

Port 1:M22x1.5;

FOUR-CIRCUIT !
9347140100 all others:M16x1.5
PROTECTION VALVE Ports: all M22x1.5

FOUR-CIRCUIT Port 1:M22x1.5;
PROTECTION VALVE 9347023000 all others:M16x1.5

FOUR-CIRCUIT Port 1:M22x1.5;

PROTECTION VALVE 9347000400 21,22:M16x1.5
FOUR-CIRCUIT AE4613 Psgtri:1a-]:\l/|;422x21xg-5
PROTECTION VALVE all others:M16x1.5

FOUR-CIRCUIT AE4162 Port 1:M22x1.5;
PROTECTION VALVE all others:M16x1.5

FOUR-CIRCUIT Ports: M22x1.5 VOSS

PROTECTION VALVE 9347050050 WITH SENSOR

FOUR-CIRCUIT 9347022600 Ports:all M22x1.5

www.victortruck.com

46



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE

PICTURE DESCRIPTION REF NO. NOTE
FOUR-CIRCUIT Port 1:M22x1.5;
PROTECTION VALVE 9347130040 all others:M16x1.5
FOUR-CIRCUIT AE4604 Port 1:M22x1.5;
PROTECTION VALVE all others:M16x1.5
FOUR-CIRCUIT Port 1:M22x1.5
PROTECTION VALVE 9347141510 all others:M22x1.5 VOSS
FOUR-CIRCUIT Port 1:M22x1.5
PROTECTION VALVE 9347010400 all others:M16x1.5
MULTI-CIRCUIT AE4528 Port 1:M16x1.5
PROTECTION VALVE all others:M22x1.5
FOUR-CIRCUIT )
PROTECTION VALVE AE4404 Ports:M22x1.5
9730024020 Ports:all M16x1.5 No
dump
Ports:all M16x1.5
TRAILER CONTROL VALVE 9730024230 adjustabel
No dump
9730020000 Ports:all M22x1.5 No
dump

www.victortruck.com 47




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

Ports:all M16x1.5

9730025200 With dump

Ports:all M16x1.5
TRAILER CONTROL VALVE 9730025210 adjustabel
With dump
Ports:all M16x1.5
9730025010 with 21 adjstable
With dump

Port 11,12,21,22,41,42
M22x1.5VOSS
43:M16x1.5 VOSS
With Dump

TRAILER CONTROL VALVE 9730093000

TRAILER CONTROL VALVE 9730090100 Ports:all M16x1.5

Port 1,21:M22x1.5

UNLOADER VALVE 9753034740 23,4:M12x1.5

UNLOADER VALVE 9753034640 Port 1,21:M22x1.5
UNLOADER VALVE 9753001100 Port 1,21:M22x1.5
UNLOADER VALVE 9753034730 Port 1,21:M22x1.5

www.victortruck.com 48



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
Port 1,21:M22x1.5;
UNLOADER VALVE 9753034740 23 4:M12x1.5
Port 1,21:M22x1.5;
UNLOADER VALVE 9753030850 23,4:M12x1.5
UNLOADER VALVE 9753000140 Port 1,21:M22x1.5
UNLOADER VALVE DR3500 Port 1,21:M22x1.5
UNLOADER VALVE 4750103000 Port 1,21:M22x1.5
9735000000 Ports:M22x1.5
QUICK RELEASE VALVE 9735000030 Ports:3/8" NPT
Port 1,3:3/8"; 2:1/4"
973 5000110 NPT
229859 Ports:3/8" NPT
QUICK RELEASE VALVE 229813 Port 1:3/8"; 2:1/4" NPT
229860 Port 1:1/2"; 2:3/8" NPT

www.victortruck.com 49



Victordruok| ™ N

— — e
PICTURE DESCRIPTION REF NO. NOTE
QUICK RELEASE VALVE | 4515190004 | Port 1:1/2" 2:3/8" NPT
QUICK RELEASE VALVE 780210 Ports:1x1/4"; 3x3/8" NPT
QUICK RELEASE VALVE | 9750010000 Ports:M22x1.5
QUICK RELEASE VALVE 9735000280 Oti‘:rt ;jn?ﬁgzlxis
DRAIN VALVE 4343000000 Ports:M12x1.5
GEAR BOX VALVE SV3368 Porj::,; :"41)(21)‘;5 /
GEAR BOX VALVE SV3360 Ports:M12x1.5

www.victortruck.com

50




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE
PICTURE DESCRIPTION REF NO. NOTE

LEVELLING VALVE 4640023300 Ports:M12x1.5
LEVELLING VALVE 90054007 Ports:1/8" NPT
LEVELLING VALVE 4640070100 Ports:M10x1
LEVELLING VALVE 4640070020 Ports:M10x1
LEVELLING VALVE SV1294 Ports:M12x1.5
LEVELLING VALVE SV1295 Ports:M12x1.5
LEVELLING VALVE 4640070010 Ports: @6

www.victortruck.com

51



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE

LEVELLING VALVE 4640070110 Ports:M10x1
5332-Q120
LEVELLING VALVE 60501-0000
267100
D-2 GOVNER 272126 Ports:1/8" NPT
275491
D-2 GOVNER KN18530 Ports:1/8" NPT

DIRECTION CONTROL

VALVE 4630360000 Ports:M10x1.5
CAB CONTROL VALVE 17600B Ports:M12x1.5
4342080000 Ports:M22x1.5

DOUBLE CHECK VALVE
4342080090 Ports:M16x1.5

www.victortruck.com 52



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
SINGLE CHECK VALVE 3140010010 Ports:M22x1.5
PRESSURE REGULATOR A4740 Porzt:lf,; 240161%;'5 ;
ELECTRIC COUPLE 452702
ELECTRIC COUPLE 452710
GOVNER MC808718 Ports:1/8" NPT
3/2 BUTTON VALVE 4630131120
3/2 BUTTON VALVE 4630131140

www.victortruck.com 53



Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

(ke

VALVE
PICTURE DESCRIPTION REF NO. NOTE
4341000040
OVERFLOW VALVE 4341001240
OVERFLOW VALVE HOWO
KN20611
DASH CONTROL VALVE KN20615

472 170 606 0

Ports:M12x1.5

SOLENOID VALVE
472 173700 0 | Ports:M22x1.5; 4:M27x1
DOUBLE CHECK VALVE 295358 Ports:3/8" NPT
DOUBLE CHECK VALVE 320100 Ports:3/8" NPT
DRAIN VALVE EE4106 Port 1:M22x1.5;

4:M12x1.5

www.victortruck.com 54




Victordruok| ™ N

— ————————————
One Stop Solution For Truck Parts

VALVE

PICTURE DESCRIPTION REF NO. NOTE
,& DRAIN VALVE 9343000030
DRAIN VALVE 48312-004-1
ST-3-284142 o
SAFE VALVE oT-1.205105 Ports:1/4" NPT
KN23000/2966-1 Ports:1/2" NPT
SINGLE CHECK VALVE
KN23010/4455-1 Ports:3/8" NPT
POWER SHIFT 43431-76000
LOAD SENSING VALVE 4757100060
PARK-RELEASE VALVE 9710029000
SHUT OFF COCK 4520021070 PortS:M22x1.5

www.victortruck.com 55



